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instructions for the candidates:
1 ool g wyq o ol § 8 gnv &/
Candidates are required to give their answers in their own words as far as practicable.
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Figures in the right hand margin indicate full marks.
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15 Minutes of extra time has been allotted for the candidates lo read the questions carefully.
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This quesrtan paper is divided into two sections — Sectlon - A and §eclfon -B.
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: In Section - A, there are 40 objective type questions which are cahpu!smy. each carrying 1 mark. Darken
the circle with blue/black ball pen against the correct option on OMR Answer Sheet provided to you.
Do not use Whitener/Liquid/Blade/Nall etc. on OMR Sheet; otherwise the result will be invalid.
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In Sectlon - B, there are 22 short answer type questions. Oul of these, elght questions are from Physlcs,
seven questions are from Chemistry, and seven quastions are from Blology. Four quostions are o be
answered Irom each subject (Physics, Chemistry and Blology). Each question carries 2 marks. Apart from

this, there are 6 Long Answer Type questions. Two questions from Physlcs, Chemistry and Blology. Long

answe
each. Answer of one from Physics, Chemistry and Blology is compidisory.

ety sl SR 7 T A

r type questions from Physics carries 6 marks and Irom Chem/stry-and-Blology carries 5 marks

Use of any electronic applianees is strcliyprohibited.
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W8 -4, SECTION - A

Eﬁ_ﬂ&:gmme__ma Questions
¥ T 1 W 40 7@ B VIS W 8w nw fwey Ao me 2 LA @ o ag &1 9T

g1 g3 o W R # OMR- e w2 Ry #7) (40x1=40)
Question No. 1 to 40 have fonr oplions, out of which only one is correct, You have to mark, your selected

k- Rea pv@ wem @ A wRuear &) 9glig QTI e

(A) TEE FRE Wl e a1 o
(€©) v @ R - qﬁ:"«mema%vh
W nich phenomenon of light does the Tyndall effect show?
(A) Reflection of light (B Relraction of light
(C)  Dispersion of light : D) - Seatteringof light -
MWWWWW E’N&?‘Tmﬁlﬁ*lﬁmﬂm%ﬁﬁm%?

i (A)  ¥qad oW | (B) [ W o

(€) Eﬂmﬁﬂaﬁ‘\'ﬂmﬁﬁ. (D) dEHR "
Which lens can be used for cnrréx:it-ion of hypermetropia?

(A)  Concave lens L (B) Convex lens
(C) Sometimes concave lens and sometime (D) ICQlindricaI fens

convex lens

%aﬁ mﬂvﬁvﬁma@.’r%'? : b
@/m L B e

M) &
Which colour has the largest wave - length?
(A)  Red |  (B) Bl
(C)  Yellow (D) Violet
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Acsrdesy x Femung's ket hand cule, the tadex foger of the keft hand indicates -
(&) Direegion of dlecmic fore spriid cn 2 (B Dinection of magnetic field

~ondtor
O Dicaction of the fow of dkvmice curment (D) Nowe of these
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- (A) e A (m :‘-5 el Al
(€)  aoe-ama da iy gt ag
Which one of the following lenses has positive foeal length?
(A) Coneave lens () (‘onvex lens
() Plano-concave lens ) None of these
« 10, R N AR A o SRR SR A ey ava if ot aly a ol B gd A i o
Rreg ary ) Rar A AT W &y yRadr s 87
A ®)
~(0)| I M g—do
A rectangular coil of n copper wire is rotated in o magnetic field, The direction of the induced current

in the coil changes once in every -

(A) Two rotations n) Gnerotation
(C)  Half rotation - (D)= Brie - fourth rotation
11,_-w- A i HH b fory SeRar) 27

M Rl O B oo

€ TR D) T A PR T
Which gas is responsible for the global wnrmmg?

(A) .- Carbon dioxide (B) Oxygen

,(Cj Nitrogen (D) None of these

12w A @ forg x-fig R -
A) 257 (B) 25
© 25 A T wp
; iy

The far - point for the normal vision s -

(A) 25m ' B) 25cm
| (C) 25 mm (D) Infinity
[112] 1 Page5ol 16
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An example of homologous organs are -

(A} Ourarm and dog's forcleg (B)  Our tecth and elephant’s ttisks
(C)  Potato and runners of grass (D) All of the above

R S & @G WEs 38

(A) are (B) dte /e

iQ B (D) T Y BE TG
{ ’ :
1 " e onerry’?
What is the commercial unit of clectric energy:
(B) Watt/hour

(A) Watt
(D) ; None of these

(C) 't
dﬁ'mﬁamﬁmﬁmmﬁmaﬁmwg_
-

(A) RUELE] AYTI

(C) TEROT {))] T Y DGR

The loss of oxygen from a substance during chemical reagtioniis galled -

(A) Oxidation (B) Reduction

(C) Corrosion (D) None of these

CEE RO R b

(A)  @®H ' B) 3@

(C) 7@ femmT

Which of the following is not a receptor organ?

(A) ' (B)  Eye

(C Nose _ (D) Brain

I | B

(C) 3crM (D)

Which among these do not act as an endocrine gland as well as an exocrine gland?
(A) Pancreas (B) Pitvitary gland
(C)  Ovary (D)  Testes

[112] [ ' Page 6 of 16
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A CHe (B) C-Hs
S CH M A=
Whach of the following is unsaturated hydrocarbon?
1A) CH: (B) C:Hs
AQ CH D)  Allof these
A 7= = R T e € -
AL gERR B) =W
) g&F (D) - 395 5 3§ 4
Male reproductive part of flower is -
{A) Stamen (B) Pisul
Q" Petal ) None of these

yﬁ“ﬁfvau-ﬁ:ﬁﬁ' = SR T T T ¥ T Rer A g I A

f:\] DL \JB’»/W 2

C) 9 gee oF EOE O == %

According to New Cartesian sign convention. the object distance of-ah object piaced before a mirror
is taken -

(A)  Positive (B)  Negative

(Cy Sometimes posilive SOMELmes negative (D) None of these

A_F=E 3 9 9fe 99 3 ¥ 5 Tewe B & dear 27

A) TS (B) ST
(O FETF S D AT
Which of the following compounds can be used as a fuel?
(A)  Ethanol (B) Propanol
(Ct  Ethanoic acid (D) All of these
P Trgon & < vl @ & e ada v @
Ay @S o o® -
0 - " M) T E DG TE
How many bonds are formed between two atoms of hyvdrogen?
(A)  Single bond (B)  Double bond
(©)  Tnple bond (D)  Noneof these
[112] 1 Page 70l 16
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()
Which type of mode of nutrition is found in fungi?
() Saprophatic (B) Holozoic
() Autotrophic (D) None of these
Mo g B v o A Al @ A e @ &7
QA4 B 6
™y 8 ™12
How many atoms of oxygen are there i one molecule of Glucose?
(\) -+ (B) 6
(S . »m
28 Py N @ T-n @ R SEeerl w2 |
_) el we B) T § GUS BT e
(€)W RIS W DY TEE (D) T ¥ vl FORIE S

Which is not responsible for Ganga's pollution?

(A)  Fish farming in Ganga  (B)~  Washing of clothes in.Ganga

() Immersion of unburng corpse inGanga (D) Emission of chemical effluents in_ Ganga

26, -ﬁma&wmwﬂwwmﬁﬁmﬁmﬁvﬁa%mﬁﬁmw%?

@) W T | (B) W T
J0) S U ® A DR T
Which mirror is commonly used as rear-view mirror in vehicles? |
(A) Plane mirror - (B)  Concave mirror
(& Convex mirror (D) None of these
_g?.-""@ﬁﬁ%aﬁammarﬁmm%? '

M), A e e B U, T q1 A
(C) @9, T e grf (D) T, O T T
Which of the following constitutes a food chain?

(A) Grass, wheat and mango (B) Grass, goat and human
(C)  Goat, cow and elephant (D) Grass, fish and goat
[112]1 Page 8 of 16
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Bile juice is secreted from -
(A)  Pancreas (B)  Liver

(C) Small intestine (D) None of these

29. mmmmﬁammwﬁgv

\
&\A‘I CH. (B) C:Hs

SO CH D)  CiHg

Which of the following carbon compound is the most reactive?
(A) CH,4 B) CHe

(€C) CHs D) _ . CiHg

-

—30. R AT ) T TN T A 2 0

L B) s
NSt ) ® 7
How many electrons are there in Lhe: outer orbit of an atom of sulphur?
@4y 4 | ® 5 -
o 6 ® 7
3L TR R A SwEs B RA T B b seerd -
RCVINRS 1 Co s B ® &
©  weF™ , ® THIPETE
The process of forming a thick oxide layer on aluminium is called -
(A) Galvanisation (B) Anodising
(C) Enrichment (D) None of these
[112] I Page 9 of 16
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- (A) BABE] (") AFH
() aYeam () g
Which of the following is an ideal source of energy?
(A) Coal (B) Wood
() Petroleum (D) Bio-mass
oA Rrae et 3 e I R -
(A) “aOH): \_g_ ~ Ca0Cla
(C) CaCOs (D) Ca(HCOs)2
The chemical formula for bleaching power is -
(A)  Ca(OH): (B)  CaOClh
(C) CaCO: (D) Ca(HCOs)2
M Prfen 39 g R AR 87
(A) m_vq’rﬁm (B) v
(€ e ) AT T
Which of the following is a malarial parasite? '
(A) Plasmodium (B) Leishmania
(C) Pmmzaa (D) None of these
W ¥ a*lﬂ W 3| eamw -
: | B | o |
I @
ﬁ”//ﬂw D) W T
Wh:th of the i’olmwmg is an example of regeneration?
(A) Hydra (B) Amoeba
(C)  Spirogyra (D)  None of these
[112] ] Page 10 of 16
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(A} & 4]1" 7
‘-1 Ny = -
i 8 i )
The pH value of pure water 1 -
£V & m 7
JILI X im 0
PR W wend e faown WL aw g
' A)
o " : ::r \![ _“] BT
o D o e
Which substance changes volour of Red Tt into Blug? T
(A) Acud (B) Base
() Salt

MM None of these
RS W&Wﬁﬁ@ﬁmqﬁ*ﬁﬂaﬁmﬁﬂvwm"‘ﬁ*ﬁmﬂ% 2

':_ﬂ.. E % LEAE
JA Y wm R B wem g
(€)  suRefda <&@ 2 D) T S

On decreasing the number of resistors from parallel combination of resistors. the total resistance

of the new combination of resistons in paralle] - hups=/ woww bihartopper.com

(A) Increases By Decreiases
{0) Remains the same (I None of these

ST R @ s WG 96T B m O E E

i g, 9dpg -

1A) S Bt e AEm da ) B) " D i @ asTE a8
.\Wl’(_‘.}"/r 5 @ cnen Nis aie SR (D) SR T WY ST TF gmecnT §
: gl
Food cans are coated with tin. not with zine because -
(A) Zine is costlier than Tin. (B)  Zinc has a higher melting point than Tia.
{3 Zine 18 more reactive than Tin. m Zine 1s less reaenive than Tin.
__/ﬁf &M 1 sl e w7
e |
A R iw W) I TR

S v S Fmaw
Which is o non-biodegradable waste?
(A) Tissue paper (B Peel of baana

(C) Thermocol 14 All ot these

[112] 1 Page ! ot
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g -4/ SECTION -B
R= 7% /Non - Objective Type Questions

g I Wy /Short Answer Type Questions

Aiftd ¥/ Physics
T WS W8 @WW?}W#W¢W¢‘W#{W#W;W

e &1 %
Question No. 1 to 8 is short answer {ype. Answer any 4 questions. Each question carries 2
(4x2=8)

g marks,
ymmﬁmmﬁm—mma%mﬁm?ﬁﬁﬁﬁ?
Why do we prefer a convex mirror as a rear-view mirror in vehicles?

e A, 25 AR, A P < Tl B e i 8 2w T

is a normal eye not able to see clearly the objects placed closer than 25 ¢cm?

y
X@ﬁmﬁ;ﬁmmz.4z§[wmwwmﬁ? )

Define refractive index. The refractive index of diamond is 2.42, What is\the meaning of this

(2)

@

statement?

WW%WWW@%$W$meW@ﬁmmﬁ @)
| PR, IER (WIET) T R B fore
Draw a ray diagram for image of an object placed on the principal axis of a convex mirror.
Write the nature, position and size of the image formed by the miror.
}//ﬁgamw%?ﬁgawaﬂsrmﬁ@l
What is electric current? Write SI unit of electric current.
6. U figd o1 &1 agiaie 60W; 220V &, 1 R R @ dreear 100V R 91 &1 4T (2)

g e amgfef | fraelt o &t el @7
An electric lamp with voltage rating 60W; 220V is connected to main supply of 100V. What

@

current is drawn by the lamp from the main supply?

J:{ﬂﬂ%mmﬁ?mwm%?

What is an earth wire? What is its function?

ﬁzﬂzaa‘squwaﬁﬁamﬁ? | @

Why does the sun appear reddish early in the morning?

" (2)

[1 12] I Page 12 of 16
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A I v/ Long Answer Type Questions

(6x1=8)
Questions No. 9 and 10 are Long Answer Type questions. Answer any one of the
Jollowing. (6x1=6)
9. (. WA N3 @ @ AW I W
®) ﬁmmﬁﬁw@aﬁaﬁﬁh?maﬁaﬁﬁa@wmmm -
S S N wiwd Q@ D TR e &
(@)  Draw a well labelled diagram of human eye.
- (b

_x.'/l'b-/;a}

(b)

How do ciliary muscles accommodate focgl length of eye lens to see nearby objects
and far objects?

e MW MWWA—e.
R, R,
fig SY R =R + R>

SR, mﬁmma.mazmmmm

Prove that R=R; +Ro

Where R is the equivalent resistance of resistors R; and R; connected in series.

1 1 1
MR p=nte )
Wl R, Wredms # Wi wfekivai Ry 3R R, &1 @uged WRRw 3
1 1 1 ‘
Prove that R —--i;-l"ﬂ—z

Where R is the equivalent resistance of resistors R and . -onnected in parallel.

1217
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A INE / Chemistry

oY I ¥/ Short Answer Type Questions

e sy 1 @ 17 g G 76 &) 5 0 Fdl 4 el @ GO 3/ TF 9 [ 2
¥ i &1 ' (4x2=8)

Queggion No. 11 to 17 is short answer Iype. Answer any 4 questions. Each question carries 2 .
mnri:s. (4x2=8)

y‘mamwmmﬁmw—wmw[ (2)
Write one equation each for decomposition reaction and cumbi:guliun reaction.

Mﬁmﬁm@*#ﬁﬁﬁmﬁmmaﬁl ‘ i )
Differentiate between washing soda and baking soda, -

ls.mﬁaaafaﬁﬁaﬂwrﬁwhﬁ@m%mmﬁaaﬁﬁré?g , @

Why distilled water does not conduct electricity, whereas.rain water Joes?
/ﬁmwaﬁﬁ?ﬁaq@aﬁwﬁﬁé'r'h 2
What are alloys? Give two éxumplcs of E!II(.:_';'\. -
%ﬁrﬁrwﬁmﬁra%amfﬁﬁ"l | e,
Give two wuys to prevent iron from rustjrllg.
16. A0 ol WETERE A W W @
Draw ik tructure for Benzene and Cycnenane, |
17. @ 7 2 giRe R & ey ared mvﬁ-ﬁj a, @) ﬁgﬁaé&mﬁ‘dﬁé? 2 .
How the clectronic configuration of an atom is related to its position in the Modern Periodic

table?

11211 - Pacel4cli6
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<1 Suda 9%/ Long Answer Type Questions

W & 18 3N 19 M gy &) gy o Rt vas @1 ey 2,

ﬁxr:ﬂ
Questions No. I8 and 19 are Long Answer Ispe questions. Answer any one of the
following, i,
18. F=iEne affsad & &2 -

k! M EEIT fEm
ai)  SeRmes s
i) CRwve it
What are the following reactions?
(t) Addition reaction
(i1} Substitution reaction
(i) Esterification reaction
19 s ¥ g @ P & v 70 B R
Write the steps involved in the extraction of metals from their ares.
Sa{eSTH/ Bidlody
Y SR/ Short Answer Type Questions
FET 6T 20 #xaymﬁam?f?##}%%hnﬁ#mﬂ%ﬁﬁz
3 FEiRa &1 (=)

Question No. 20 to 26 is short answer type, Answer any 4 questions. Each question carries 2

marks. C ($x2=8)
20 ATt reer o Rt dr § wy siy 27 (2)

g1 a1 82 <1 Uy & 31 W R | (2)
Define hormone? Name any two plant hormones.

22. T PR At IO B 7 BRo A wa & @

Give reasons for adopting contraceptive methods?

[”211 . Page 15¢f 16 _
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5 meﬁwiﬁdt 2)

L Distinguish between self-pollination and cross- pollmaf( 1ogd,
24, Mg arad @ o F R 8 2)
What do you mean by biological magnification?
25, s R @ vl T @ R @ geE <) @
Give two suggestions (0 make your school environment friendly? |
A{’;ﬁwﬁﬂﬂﬁﬂwiﬁfﬁmﬁ? @
B ' -
How is food transported in plants? . '
& werda w9/ Lond Answer:
e i 27 o 28 @ wer T &1 g R v ¢ @ aTe 2 (6x1=3)
Questions No. 27 and 28 are Long Answer Tygb-questions. Aﬁtﬁéj‘ any one of the
Jollowing. | | | (5x1=5)
wwaﬁwwwﬁﬂﬁmwwﬁmaﬁml 5)
Draw a well labelled diagram cf human dzgesuvc system ancf describe the dlgesuon of food.
25 AT ART ATATTEAR g fdddRa o,
Describé thie structure of human brain. ?‘3;3%31? W, ’ vgﬁ?rz
| mm%mﬁm
9ga Ui & f3e...
BSEBResult.In
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